D2

TERR 2 6 AR RS BRI Eh N S R

i B TR R A4 U 7 I ET]

1. # Eil V2 64 H1HNGEK2 7THE3H31HET

2. HEFEREHEES ( 4)

==
2 =

B o
i
%{&
il

i
=ul
?&;
/

==
2 =

3.0 A
(BT 2 M)

F H 4 # D 5

BOSTRENE 360 000 [

4. X i
(BT . 1)

&
2
o
N

M H

TRATT ST 49, 600 fRE2 3 H

WHEE 153, 800

IR E

NS ¢

ST R REE Ik

e

HRHERCE 37 ae—f il

HRHE AL

NS

FHITH

& H 203, 437

5. ¥% BH 156, 563 [

(E) AT, B2 HONRE LT D,



BAFESE (F6EMER%R)

BB EYERZEF

BEXIREERAESR MR T
H B zef54E s = SCHIBR A
5| 20| 360,000 360, 000
5| 20 bt 30, 000 330, 000
5| 29 b — (e 42, 840 287, 160
7| 22 1 5 12 80, 960 206, 200
o] 1 A B 29, 380 176, 820
0] 9 Sk 1 176, 819
10| 16 I e 20, 220 156, 599
1| 9 Sk 4 156, 595
3| 6 Ca Ly e 20 156, 575
3| 19 b ] R I 12 156, 563

203,437




